8th BSUIR Open Programming Championship. Final
Belarus, Minsk, March, 15, 2018

Problem |. Permutations again

Input file: standard input

Output file: standard output

Time limit: 1 second

Memory limit: 256 megabytes
Given a sequence A; consisting of N integers. Find the number of pairs (L, R) for which the subsegment
{Ar, AL+1, ..., Ag} is a permutation of R — L + 1 numbers.
A permutation of K numbers is any sequence of numbers from 1 to K, where each element occurs only
once.
Input

The first line contains number N — a sequence length. The second line contains N integers — sequence
A; elements.

1< N <10
1<A; <N
Output
Print the number of pairs (L, R), fulfilling the condition.
Example
standard input standard output
3 3
312
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